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(1952) in the original (linear) CG paper
of Hestenes and Stiefel [59]
(1964) first nonlinear CG method, proposed
by Fletcher and Reeves [45]
(1967) proposed by Daniel [39], requires
evaluation of the Hessian V2 f(x)
(1969) proposed by Polak and Ribiére [84]
and by Polyak [85]
(1987) proposed by Fletcher [44], CD
stands for “Conjugate Descent”
(1991) proposed by Liu and Storey [67]
(1999)  proposed by Dai and Yuan [27]
(2005) proposed by Hager and Zhang [53]
TABLE 1.1

Various choices for the CG update parameter
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